-
SAKAE
>,

/\
/\
VAN
1500
1330
W[E:::f::if::i?:::ff:iif:ii{jﬁ
iR
o Kif - pte ) DEORHE
== A R 2 % 2 ¥
I | . Jh1Ju—> KS—1hbbF
I [ ] —> \ —
e - I AR TR { F P4 AU | K5~ 156F 1G
fffffffffffffffffffffffffffffffff | 00* SHITU—> | KS-156P1G
A ) — K] \
TARY =R T AT R S T o (A fU—| KS=156P 1
1230 50 26 448 26

PEmaE 300kg
NURETEE 1 43Uy F CBEolEE

440
6865
40

i B - ———— 5 MU T | SPCC-SD  |l.2t
// 2 | ¥ il 4 |74 AH— A4 [ABS- 12904y IMI2XP1. 75
i = L L 3 WoL—A P
é ./F ~ 2 KEIL—h | 2[sPCc-sD 1.2t
(@) | & | g8 3050 (H58)

)
Eib S
[

x ML

SAKAE]
-4




